EXTRA LARGE TABLE

INSTRUCTION MANUAL

—”l L Pd/%Stic

T 07427602213 @ liplastic.co.uk & info@liplastic.co.uk



x 2 ready built

leg frame
x 1 leg bar

x 2 ready built
table seats

X 2 plastic coated
steel bar for seat support

x1
x 2 stiffening elements plastic coated

[ S1x24-6x100mm silver screws for seats steel bar for
S2 x 24 - 6x70mm silver screws for table top table top support
S3 x 2 -6x100mm silver screws for stiffening elements
S4 x 6 - 6x150mm silver screws for leg bar «.\(

A

S5 x 2 - M12x110mm Bolts with nuts and
P Y,
washers for stiffening elements \/ ¢

Place the 3 support
Steel bars into the
brown steel brackets.

Fix the two stiffing Place the ready built table top and seats onto the frame.
| clements to the leg bar Fix them with the green screws
with the M12x110 mm bolts. Table top 6x70 mm / seats 6x100 mm



	Page 1
	Page 2

